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AEI'MATIKO TEXT 1 — EIININEAO 1

Which of the following statements is incorrect?

Assets — Liabilities = Equity
Equity — Liabilities = Assets
Assets = Equity + Liabilities
Assets — Equity = Liabilities

0O wW>

[Towa amd T1g TOpaKAT® KOTAGTACEL Eivor AavOaouévn;

Evepyntikéd — IMabntikd = Kepdioro
Kepdraro — ITaOntucd = Evepyntiko
Evepyntikéd = Kepdraro + [Tabntikd
Evepyntikd — Kepdroro = [Tabntikod

> 1w >

Which one of the following is a nominal account?

Purchases

Motor vehicles

F. Smith, a receivable
Bank

O w>

[Tolog amd Toug TapakdTe elval amoTeAeGHATIKOG AOYOPLOAGLOGC;

Ayopég

Metagpopikd oynuota

F. Smith, évag ypedotng
Tpanelo

> =1

Unsatisfactory goods are returned to the supplier. This is recorded in the
accounts as:

Debit Credit
A Salesreturns a/c Supplier’s a/c
B  Purchases returns a/c Supplier’s a/c
C  Supplier’s a/c Purchases returns a/c
D  Supplier’s a/c Purchases a/c

AKOTEAANAQ EUTOPEVUATO EMGTPEPOVTOL GTOV TTpounBevTi). AVTd
KOTOY®PEITAL GTOVG AOYAPLOGHOVS MG EENG:

Xpeoveton [Notoveron
A A/opdg emotpogéc [loincewy  Aloudg IpounBev
B A/opog emotpopéc Ayoparv A/opodg Ipoundevtm
I'  A/opog IpounBevtm A/opdg Emotpoeéc Ayopmv
A Aopog IpounBevtn A/ouodg Ayopmv




Which one of the following accounts is not contained in General Ledger?

A  Receivables A/c

B  Purchases Returns A/c
C  Vehicles Alc

D LoanAlc

[Toog amd ToVg TOPAKAT® AOYOPLOGHOVG OV cuUTEPIAApPAvVETOL 6TO [EViKo
Kafoiiko;

N/opdg Xpemwotmv

A/opdc Emotpoéc Ayopmv
A/opdg Oynmuato LETOPOp®V
A/opdg Advela

> w

A business sells goods with a retail value of €500. The customer is allowed 20
per cent trade discount, and a cash discount of 2,5 per cent for settlement
within seven days. If the invoice is settled within the seven-day period, and
ignoring VAT, the business will receive a cheque for:

A €487,50
B €400,00
C  €390,00
D €387,50

Mua emyeipnon noiel epmopevpata Aavikng a&iog €500. tov meddn
yopnyeitat 20 T01¢ €KATO EUTOPIKN EKTTOGT, KO TOUIOKY| EKTTOON 2,5 TO1g
ex0to og mepintmon eE6ANONG eVTOg ENTA NUEPDV. AV TO TIHOAIY10
eEoPAnOel evtog g mEP1OOOL TOV EMTE NUEPBV, Kol ayvomvtag To PITA, 1
emyeipnon Ba AdPet emrayn yo:

A €487,50
B  €400,00
' €390,00
A €387,50

What is the amount of equity, given the following information?
Buildings €30000, Inventory €5600, Bank €750, Payables €2200, Loan from
N. Clark €7,000:

A €29150
B  €36350
C  €41150
D  None of the above



ITowo eivan to T0cd Tov Keparaiov, cOLP®VA LE TIG TOPAKAT® TANPOPOPIES;
Axivnrta €30000, AnoBepa €5600, Tpanela €750, [Tiotwtéc €2200, Advelo
and N. Clark €7000:

A €29150
B €36350
I' €41150
A Kovéva and ta mo tave

Given this year’s closing equity as €29360, the year’s net profit as €8460 and
drawings as €5320, what was the equity at the beginning of the year?

A €29360
B  €26220
C  €34680

D  None of the above

Av 10 TEMKO KePdAato Tng xpovidg eivan €29360, To Kabapd kEPSOG TG
ypovids €8460 kot o1 amoAnyels €5320, Too NTav 10 apykd KEPAAALO TG

YPOVIAG;

A €29360
B €26220
I' €34680
A Kavéva amd ta mo mivo

The owner of the business transfers a computer to the business from his
personal assets. This is recorded in the accounts as:

Debit Credit
A Computer account Equity account
B  Purchases account Equity account
C  Equity account Computer account
D  Computer account Revenue account

O ok g pa emyeipnong petafipalel oty enyeipnon Eva NAEKTPOVIKO
VTOAOYIGTN OO TO. SIKA TOV TEPLOVGLUKE GTOLYElR. AVTO KATOYWPEITAL GTOVG
Aoyoplacpos o¢ eENg:

Xpeovetan [Notoveron
A A/opog Hiektpovikddv Y moroyiotdv A/opodg Keporaiov
B A/opdg Ayopov A/opodg Keporaiov
I'  A/opog Keparaiov A/opog Hiektpovikav
YnoAoylotdv

A A/opog Hhektpovikdv Y moroyiotdv A/opodg NMoinoewv




Wages accrued are shown as a:

current asset in the statement of financial position
debit balance in wages account

non-current asset in the statement of financial position
credit balance in wages account

OO w>

Ta opetlopeva nuepopichia speavifovral og Eva:

Kvkhopoplaxod otoyeio oty Katdotaon Xpnuatootkovoutkng @éong
Xpewotikd vrolouro oto Aoyaplacpd Huepopicho

[Taywo otoryeio otv Katdotaon Xpnpatoowovoutkng @éong
[Tiotwtikd vrodlouro otov Aoyapracud HuepopicHio

>-w >

You have the following information:

e Opening payable balances at the start of the month €18600
e Cash/cheques paid to payables during month € 9400
e Purchases returns € 800
e Payable balances at the month-end €17500
What is the amount of credit purchases for the month?

A €9100
B €9700
C  €10000
D €11300

Me Bdon Tic mopokdtm TANPOPOpIES:
e Apyd vmoromo moteTdV 610 Eekivnpa tov pve  €18600
o  Merpntd/emtayég katafAnOEVIO GTOVG TIGTOTES

KAt TN SPKELD TOV v € 9400
o Emotpoég ayopmv € 800
e  YmOAOUTO TOTOTAOV GTO TEAOG TOL UV, €17500

[Towo etvat 10 TOGH TV Oyop®OV UE TGTWGN TOV UV,

A €9100
B  €9700
'  €10000
A €11300

Which one of the following would you not take into account when calculating
working capital?

A machinery

B cash

C  receivables

D  accruals (expenses)



11. [Toto amod o TapakdTm dev Bo cuUTEPIAEPEIS GTOV VTOAOYIGLO TOV
KepaAaiov kivnong;
A unyoviuoto
B  uperpntad
I' ypewoteg
A Ogeldpeva (¢€oda)
12.  The straight line method of depreciation consists of:
A Unequal amounts of depreciation each year
B  Increasing amounts of depreciation each year
C  Reducing amounts of depreciation each year
D  Equal amounts of depreciation each year
12. H gvbeia pébodog amdcoPeons cuviotoaton amo:
A Avica mocd andcPeomng Kabe ypdvo
B  Av&avopeva mocd amdcPeong Kabe ypovo
I'  Mewvopeva tocd andsPeong Kabe ypovo
A Toa mocd andsPeong kabe ypdvo
13. In the trading account — section of the Income Statement, the returns inwards
should be:
A Added to cost of goods sold
B  Deducted from purchases
C  Deducted from revenue
D  Added to revenue
13. 210 Aoyaproopd Expetddievon Epnopevpdrov, ot emotpo@ég amd meAdTeg
Oa mpémer va:
A Tlpoctefohv 610 KOGTOG TV TOANOEVTOV EUTOPEVUATOV
B  Ao¢apeBodv and 1ig ayopéc
I' Aopapebodv and tic twAnocelg
A TIpocteBovv oTig TOANGELS
14. A debit balance of €125 on the bank account in a firm’s book-keeping system

means:

O w>

The firm has money in the bank of €125
The firm is overdrawn at the bank by €125

The owner’s equity is €125
The balance of cash held by the firm is €125



14.  "Eva ypewotikd vrolouro €125 tov Aoyaplacpov tpdmrela 610 AoyioTiKo
GUOTNHO o EMLyeipnong onuaivel Ot
A H emyeipnon éxer ypnpota oty Tpanelo €125
B  H emyeipnon éxet mapatpdpnyna oty Tpanelo €125
I'  To kepdiaio tov okt givan €125
A To vmoélomo PETPNTAOV TOV Kpotd 1 enyeipnon elvarl €125
15.  The following are the year end balances in business ledgers:
€
Sales 628000
Cost of Sales 458000
General Expenses 138000
Payables 54000
Receivables ?
Cash at bank 61000
Equity 86000
If the trial balance balances, what is the missing figure for the receivables?
A €61000
B  €111000
C  €233000
D  €387000
15. Ta mapakdto ivor To TeEAMKd TG00 VTOAOITA 6TO KOOOAKE oG
emyeipnong:
€
[MeoAncelg 628000
Kootog [MoAncemv 458000
Ievikd €000 138000
[Mototég 54000
XpemoTeg ;
Metpntd oty Tpdmela 61000
Kepdraro 86000
Av 1o Ioolhyo 1cooKeMOEL, TO10 £ivol TO EAAEITOV TOGO TV YPEMCTMV;
A €61000
B  €111000
I  €233000
A €387000
16.  Which of the following should be classified as current liabilities?

(@) Trade receivables
(2) Bills payable

3) Trade payables
4) Drawings

A land?2
B 2and3
C 3and4
D 2and4



16. [Too and to mapokdtm tasvoueitoar og Bpayvrpobeopo TTabntuco;
1) Eumopucot ypedoteg
(2) [pappdtio minpotéa
(3) Eumopikoi miotwtéc
4) Amoyelg
A 1xom2
B 2xm3
' 3xm4
A 2xu4
17.  Which of the following correctly calculates cost of sales?
A Purchases + Opening Inventory + Closing Inventory
B  Purchases — Opening Inventory + Closing Inventory
C  Purchases — Opening Inventory — Closing Inventory
D  Purchases + Opening Inventory — Closing Inventory
17. [Toto amod to mapakdtm opBé voAoyilel T0 KOGTOC TOANGEW®V;
A Ayopéc+ Apyucod AmoBepa + Telkd AndOspo
B Ayopéc— Apykd AndBepo + Tehwcd AmoOepa
I'  Ayopéc— Apykd AmdBepo — Tehxd AndBepa
A Ayopég+ Apykd AndBepa — Telkd AndBepa
18. A business compiling its financial statements for the year to 31 July, each year

pays rent quarterly in advance on 1 January, 1 April, 1 July and 1 October
each year. The annual rent was increased from €60000 per year to €72000 per
year as from 1 October 2003.

What figure should appear for rent expense in the business profit and loss
account — section of the income statement for the year ended 31 July 2004?

0O w>

€69000
€62000
€70000
€63000



18. Mua emyeipnon mTov GLVTAGGEL TIG OIKOVOUIKES TG KATAGTACELS TNV 31
IovAiov kGO £ToVG, TANPOVEL EVOIKLO Yo KAOE TPEIS UVES TPOKATABOMKA
v 1 Tavovapiov, 1 Ampidiov, 1 IovAiov kot 1 OxtoPpiov kabe étovg. To
€moto evoikto avéndnke and €60000 1o £tog og €72000 to étog amd 1
Oxtwppiov 2003.
[Toto moc6 Yo €000 evotkiov Ba eppaviotel 610 A/opd AmoteAéopata
Xpnong g enyeipnong yua 1o £1o¢ mov Afyet 31 IovAiov 2004;
A €69000
B  €62000
I  €70000
A €63000
19.  Clark has just started-up a business. He introduced €10000 of his own
savings, equipment worth €2500 and obtained a bank loan of €1000.
What is the correct balance on Clark’s Equity account following these
transactions?
A €10000
B  €13500
C €12500
D €11000
19. O Clark uéhg apyroe o emyeipnon. Eicépepe €10000 omd T1g
amoTopIEVGELS TOV, eEomhopd a&iog €2500 kot eacpdiice Tpamelikd davelo
€1000.
[Towo givar to 0pHO vOAoo Tov Aoyapracuod Kepaiaiov tov Clark petd tig
GUVOALAYEG OVTEC
A €10000
B  €13500
I €12500
A €11000
20.  Julia buys a dress costing €119, shoes costing €59.50 and a jacket costing

€187. These are all net figures, exclusive of trade discount at 15%.

How much trade discount in total has Julia gained?

A €64.50
B €54.83
C €44.48
D €58.50



20. H Julia ayopalet éva opepa mov kootilel €119, nanovtoia mov kootilovv
€59.50 ko pa Cakéta mov kootilel €187. Ola avtd eivar mocd kabapd,
a@opovpEVNS 15% epmopikng EKnTmong.

[T6on eumopikn Ekntmon cvvoAlkd 1 Julia £xetl emweeinOsi;

A €64.50
B  €54.83
I' €44.48
A €58.50

21.  What is the effect of treating capital expenditure as revenue expenditure?

gross profit overstated

profit for the year overstated
non- current assets understated
non- current assets overstated

o0 m»

22. B Williams sells goods on credit to J Hartley. How will this transaction be
recorded in the books of J Hartley?

Account to be debited Account to be credited
A | Sales J Hartley
B | J Hartley Sales
C | B Williams Purchases
D | Purchases B Williams

23. A trader owes a month’s rent at the end of his financial year. He adds this amount

to the rent actually paid during the year to obtain the total rent expense for the
year.

Which accounting concept is he applying?

accruals/matching
business entity
consistency

going concern

COw>

24. Which of these accounts has a credit balance?

A. discount allowed
B. discount received
C. purchases

D. sales returns

10



25. Where is the total of the discount recorded on the debit side of a cash book
posted?

credit discount allowed account
credit discount received account
debit discount allowed account

debit discount received account

CoOow>

26. Which accounting concept is being applied when a business uses the same method
of depreciation each year?

A. business entity
B. consistency

C. materiality

D. prudence

11



AEI'MATIKO TEXT 2 — EIIINEAO 1

1. Which of the following is correct?

Assets Liabilities Equity

€ € €

A 7850 1250 6600

B 8200 2800 11000

C 9550 1150 8200

D 5420 6540 1120
1. IToo and to mapokdto eivor 0phod;

Evepynuiké  Mobntkd  Kepdrowo
€ € €

A 7850 1250 6600

B 8200 2800 11000

r 9550 1150 8200

A 5420 6540 1120
2. The effect on a firm’s assets and / or liabilities as a result of it buying goods on

credit is:
Effect upon Assets Effect upon Liabilities

A Reduce bank Increase payables

B Increase cash No effect

C  Increase cash Decrease loan

D Increase inventory Increase payables
2. H enidpaon 610 evepyntikd kot / 1) To mabnTtkd pog emyeipnong and tmy

ayopd EUTOPELUATOV LE TioTWoN glva:

Enidpaon mive 610 Enidpoaon tave 6to
Evepynrtikd HoBntucod
A Meiwon Tpanelag Avénon [lototov
B  Av&nonm Taueiov Koapio enidopaon
I'  Av&non Tapeiov Meimon daveiov
A AbvEnon AmoBépartog Avénon motoTOV
Epmopevpdromv

12



Which of the following possible double-entries is correct?

Account to Debit

Bank

Vehicles

Both of the above
None of the above

OO wW>

Account to Credit

Bank
Bank

[Tota amd T1g MopakdTo TOUVEG SIMAOYPAPIKES EYYPAPES Etvat opON;

Aoyoprocudc yio Xpgmwon

Tpbmela

Avtoxivnta

Kot ta 800 to To move
Kavéva amd ta mo mivo

> 2w >

Aoyoprocudc v Hioctmon

Tpbmela
Tpdmela

If there is a separate ledger account for each receivable and each payable,
which of the following double-entries is the correct way to record the

lodgement of money received from P

Account to Debit

A P. Georgiou
B Bank
C Bank
D Cash

. Georgiou, a receivable?

Account to Credit

Bank
P. Georgiou
Cash
P. Georgiou

Av oto Kabolkd vrdpyet Eexmpiopog Aoyaplacpog Yo KAOe ypedotn Kot Yo
KkdOe MoTOTN, o0 AN TIG TOPAKAT® OTAOYPAPIKES £YYPAPES £fvat 0 0pOAC
TPOTOG Y10 VO KOTOXWPICOVE TNV KaTaeon ypnUdTeV Tov glempdydnkay and

t0 ypewotn IL. I'ewpyiov;

Aoyapracudc yio Xpémon

A I1. 'ewpyiov
B Tpbmela

r Tpamelo

A Tapeio

Aoyopraouoc yo Iictoon

Tpamnelo

I1. T'ewpyiov
Tapeio

I1. T'ewpyiov

13



In accounting, the term “purchases” means ....

All items bought.

Only goods bought on credit.

Only those goods bought for resale.
Only goods bought and paid for.

oOwm>

2 Aoyoetikn, 0 0pog «Ayopég» onuaivet ....

O)la ta avtikeipeva wov ayopalovrat.

Movo to gumopedLOTO TOL OYOPALOVTAL LLE TIGTMOT).
Movo T EUITopeLUOTO TOV oyOPALOVTOL Y10, LETOTMOANGT).
Movo ta gpumopevpata wov ayopdlovrot kot eopAovvTat.

> 1w

Which of the following would appear in a trading account — section of the
Income Statement?

A Discounts allowed
B Carriage inwards

C Carriage outwards
D Discounts received

[Towo and ta mapokdtm Oa eppoaviotel oto Aoyaprocud Expetdiievon
Epnopevpdrov;

Exntooeig yopnyovpeveg
Metagpopikcd Ayopodv
Metagpopuch [Toincewv
Exntooeig AapPoavopeveg

> 1w

At the start of its year, a firm had brought forward a debit balance of €30 on
rent account.

During the year, the firm paid rent of €150, and carried forward a credit
balance of €20.

The amount charged to the profit and loss account — section of the Income
Statement for rent was:

A €200
B €180
C €170
D €150

14



2NV apyn ToL £T0VG, Lol ETLEIPNOT EYEL OO LETAPOPA EVOL XPEMCTIKO
vrorowro €30 oto Aoyapracud Evoikia.

Koatd ™ dudpreta tov £tovg, 1 entyeipnon tinpwce evoikia €150, kot
UETAPEPE Y10 TNV EMOUEVT] XPOVIA EVa TGTOTIKO VToAouro €20.

To 1066 mov emPapvvOnKe 0 AOYOPLAGHOG ATOTEAEGLATOV XPNONG Y10,
gvoikia NTav:

A €200

B €180

r €170

A €150

Drawings

A are an expense of the business

B must reduce the cash of the firm

C could result in a fall in the amount of equity

D are entered as a credit in drawings account

Ot amoAnyelg

A glvan éva £€£000 ™G emyeipnong

B LELOVOLV TAVTOTE TO, LETPNTA TNG EMLYEIPTNONG

r KOTOANYOVV GE HEIMOT] TOV TOGOV TOV KEPAAAIOV
A KATO(OPOVVIOL OC TGTMON GTO AOYAPLOoUO ATOAYEDV

Given figures showing Revenue €28500, Opening Inventory €4690, Closing
Inventory €7240, Carriage inwards €570 and Purchases €21360, the cost of
goods sold figure is:

A €19830
B €19380
C €18810
D Another figure

Me Bdon ta otoyyeio mov deiyvouv Iwinceig €28500, Apyucod amdepa
€4690, Teho andbepa €7240, Metagpopikd ayopav €570 kor Ayopég
€21360, t0 k6610 TV TOANOEVTIOV EUTOPELLATOV ETvaL:

A €19830
B €19380
r €18810
A "Eva. dAlo mocd

15



10.  An invoice shows a total of €3200 less a 2%2% cash discount. If this was not
paid in time, the amount of the cheque paid would be for:
A €2960
B €3280
C €3120
D €3200
10.  "Eva tipoldyto deiyvel ohvoro €3200 peiov 212% tapeioxn ékntwon. Av to
TILOAOY10 0VTO deV TANPWOEL £yKarpa, TO TOGO NG emtayfg Tov Oa
KatafAnOet Oa elvar:
A €2960
B €3280
r €3120
A €3200
11. Depreciation is:
A The cost of a current asset wearing away.
B The cost of a replacement for a non-current asset.
C The salvage value of a non-current asset plus its original cost.
D The part of the cost of the non-current asset consumed during its period
of use by the firm.
11.  AmdoPeon eivar:

A

To k66T0g £VOG KUKAOPOPLAKOD EVEPYNTIKOD TTOL HELMVETUL AOY® TNG
xpiong Tov.

To k6610¢ £vOG AVTOAAAKTIKOD Y10 £VOL TAY10 GTOLYELD.

H vroAeppatikn a&io evog mérytov 6toryeiov Guv 10 apyKO TOL
KOGTOG

To tunpo ToV KOGTOVG EVOG TTAY10V GTOLYEIOV TOV AVOAMDVETOL KATH TN
OLIPKELL TNG YPNCLOTOINCNG TOV OO TNV EMLXEIPNOT).

16



Relate to the following assets and liabilities:

€ €
Inventory 1000 Machinery 750
Cash at bank 750 Receivables 750
Cash in hand 50 Fixtures 250
Payables 500 Motor cars 750
Equity 3800

Working capital is:

A €3050
B €2050
C € 500
D € 800

Me Béon ta mapakdto evepynTikd kot modntuicd ototyeio:

€ €
AndOepa 1000 Mnyoviuoto 750
Metpntd oty Tpdmela 750 XpedoTeg 750
Metpntd oto Tapeio 50 ‘Emutha 250
[Tototéc 500 Avtokivnta 750
Kepdrao 3800

To xepdiaio kivnong stvat:

A €3050
B €2050
r € 500
A € 800

If we take goods for own use, we should:

Debit drawings a/c: credit purchases a/c
Debit drawings a/c: credit revenue a/c
Debit drawings a/c: credit inventory a/c
Debit revenue a/c: credit inventory a/c

o0Ow>

Av maipvovpe epmopedpaTo yio d1kn Hog xpnon, 0o npémnet:

A Noa ypewbet 0 Mopodg Aroayelg: Nao motwdei o Mopdc Ayopéc

B Noa ypewbei 0 Mopdg Arolyeis: Nao motwbel o Aopog [oincewv

r Na ypewbet 0 Mopodg Atoayelg: Na motwdel o A/opodg Anddspa
Epmopevpdrov

A Noa ypewbet 0 Mopodg toinoeis: Na miotmbel o Mopog Andbspa
Epmopevpdrov

17



14.

14.

Given last year’s equity as €74500, closing equity as €46200, and drawings of
€13400, then:

Profit for the year was €14900
Loss for the year was €14900
Loss for the year was €15900
Profit for the year was €16800

OO wW>

Agdopévou 0TL TO KEQAALO TOV TPOTYOVUEVOL £ToVg NTav €74500, 10 TEAIKO
KeQAaAao Tov Tpéxovtog étoug €46200, Kot 01 ATOANYELS TOV TPEXOVTOS £TOVG
€13400, tor1e:

To k€pdog Tov Tpéyovtog étovg eivon €14900
H {nud tov tpéyovtog étovg givar €14900
H nué tov tpéyovtog £tovg eivan €15900
To képdog Tov TpEYovTog £Tovg eivar €16800

1w

15.

15.

A firm bought a machine for €50000. It is expected to last for six years and
then be sold for €5000. What is the annual amount of depreciation if the
straight-line method is used?

A €7000
B €8000
C €7500
D €6750

Mua emyeipnon ayopaoce Eva pnyavnua yio €50000. Avapéveron va
owpkéaet £En £t kou petd va movAnOel yio €5000. oo Ba eivar To eto10
T0G0 ™G amdcPeons av epapudletar ) evbeio pEBodog amdcPeonc;

A €7000
B €8000
r €7500
A €6750
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16. What would be the totals on a trial balance given the following balances:
Loan from Smith €2000
Inventory €3955
Bank overdraft € 368
Receivables €3092
Fixtures €5500
Cash € 121
Payables €2766
Motor Vehicles €3900
Equity ?
A €11494
B €14628
C €16568
D €16996
16. [Toa Ba elvan ta aBpoicpata evog iooluyiov e Baon o mo KAt vITOAOUTAL:
Adwvero omd o Smith €2000
And0gpo Epmopeopdtov €3955
[Mopatpafnyna Tpanelog € 368
XpemdoTeg €3092
‘Emimia €5500
Agptd 610 TapEl0 € 121
[TotoTéc €2766
Avtokivnta €3900
Kepdraro ?
A €11494
B €14628
r €16568
A €16996
17.  If Scott lent his friend Clark €5000 in cash, then the entries in Clark books

would be:

Debit cash: credit payables

Debit Loan from Scott: credit cash
Debit equity: credit Loan from Scott
Debit cash: credit Loan from Scott

OO w>
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17.  Av o Scott daveise to @ido Tov Clark €5000 oe petpntd, tote 01 £YYpaPES GTaL
Bipria tov Clark Oa eivou:
A Xpéwon Tapeiov: [Tictwon [Tictotdv
B Xpéwon Aaveiov amo Scott: I[Tictwon Tapeiov
I Xpéwon Keparaiov: [Tictmon Aaveiov amd Scott
A Xpéwon Tapeiov: [Tictwon Aaveiov and Scott
18.  The closing balances in a Sales Ledger:
A Are always debit balances
B Are always credit balances
C Can be both debit and credit balances
D None of the above
18. Ta telkd vrorouma 610 Kabolkod Xpemotov:
A Eivar mévtote ypewotikd vworoura
B Elvar mévtote mototikd vwéroura
r Mmopel va eival Kot Ype®oTIKE Kot ToTOTIKE
A Koavéva and ta mo ndve
19. In the statement of financial position of a sole trader, prepayments should be
shown as .....
A a deduction from equity
B part of payables
C a deduction from current liabilities
D part of current assets
19. Ymv Katdotaon Xpnuotootkovoukng ®Eong Log aTopikng entyeipnong, to
npomAnpwBévta £oda eppaviCovrotl g ...
A po peiwon amd to KePAAato
B UEPOC TV TGTOTAOV
r pa peiwon tov BpoayumpdOeciov mabnTikov
A otoyeio Tov BpayvmpdOecpov evepynTIKoD
20.  Which of the following is capital expenditure?

A The cost of repairing a vehicle.

B The cost of acquiring a vehicle for re-sale
C Proceeds arising from the sale of a van which had been used in
the business to make deliveries to customers.
D The cost of a new vehicle acquired for continuing use in the business.
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20. [Toto amod o TapakdTm amotelel kepalotokn domdvn?
A To k66T0¢ £MOOPHM®ONG EVOG ALTOKIVITOV.
B To KOGTOC AMOKTNONG EVOG OVTOKIVI|TOV Y10 LETOTTMANOT).
r Ot elompd&elc omd v TOANGT EVOG GLTOKIVITOL TTOV ¥PTGLLOTTOLEITO
OTNV EMYEIPNON YO0 LETAPOPES EUTOPEVUATMV GTOVG TEAATEC.
A To K00TOG ATOKTNONG EVOG KALVOVPYLOL QLTOKIVI|TOL Y10l VO, GLVEYIGEL
Vo YpNOYLOTOLELTOL GTNV EMLYELPNOT).
21.  The total of the discount allowed column in the cash book should be posted to
A the debit side of the discount allowed a/c
B the debit side of the discount received a/c
C the credit side of the discount allowed a/c
D the credit side of the discount received a/c
21. To dBpoiopa TV YopNYOLUEVOV EKTTOGEMY TNG 6TNANG Tov BifAiov Tapeiov
Oa mpémel va kotaywpnbel o ...
A YPEMCTIKY TAELPE TOV A/GLOD EKTTMOCELS YOPNYOVLUEVEG
B YPEMCTIKY] TAELPE TOV A/GLOVD EKTTAOCELS AAUPAVOLEVES
r TIOTOTIKY TAELPE TOV A/GOD EKTTMGELS YOPNYOVUEVESG
A TIOTOTIKY TAELPE TOV A/GLOD EKTTMOGELS AUUPOVOUEVES
22.  The correct heading for the statement of financial position of F. Wood at the
end of December 2005 is “Statement of Financial Position of F. Wood ....
A for the period ended 31 December 2005”.
B for the year ended 31 December 2005”.
C as at 31 December 2005”.
D as at December 2005
22. H opn emkeparion g Katdotaong Xpnuatootkovouikng @éong tov F.

Wood o710 téhog Agkepppiov 2005 givar “Kotdotaon Xpnuatootkovoutkng
®éong F. Wood ....

v TV mEPiodo mov Ayer v 31 AgkeuPpiov 20057
ywo. 0 £10¢ wov Ayel v 31 Agkepppiov 2005”.

v 31 Aexepppiov 2005”.

10 AegképPpro 2005”.

1w >
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23.  The following information relates to a sole trader.

Total of all assets at 1 June €3300
Total of all liabilities as 1 June €2500
Net profit earned during June €1000
Drawings during June € 700
Equity introduced during June €5000

The sole trader’s equity at 30 June was:

A €6100
B €6300
C €6500
D €6600
23. O 10 kbt TANPOPOPIES APOPOVV L OTOUIKT) ETLYEIPTNON.
2Hvolo otoyeiowv evepyntikov v 1 Iovviov €3300
2Hvolo otoyeiowv madntikov v 1 Iovviov €2500
KoabBapd képdog mpaypatomoinBév katd ) didpkela lovviov €1000
AmoAnyelg katd ) dugpketa lovviov € 700
Emumpdcbeto kepdhato katd tn didpketo lovviov €5000

To kepdiaio g atopkng entyeipnong v 30 lovviov frav:

A €6100
B €6300
r €6500
A €6600

24.  When depreciating his machinery, a trader always uses the reducing balance
method.
Which accounting concept is he applying?

A Accrual

B. Consistency
C. Materiality

D. Going concern

25. A business decides to include the cost of small items of office equipment as
expenses in the profit and loss account — section of the income statement.

Which accounting concept is being applied?

A. accruals

B. business entity
C. materiality

D. prudence
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NMArKYTPIA ENQZH KAOHITHTQN OIKONOMIKQN MAGHMATQN

(Ap1Opu6G MnTpWwou ZwpaTeiou 2655)

AEIFMATIKO TE3T 3
ACCOUNTING LEVEL |
AOrIIZTIKH ETIMNEAQY |

1. Which of the following equations is correct?

A. Assets + Equity = Liabilities
B. Liabilities — Equity = Assets
C. Equity = Assets + Liabilities
D. Equity = Assets — Liabilities

1. Toia a1rd TIC TTAPAKATW 1I00TNTES €ival opon);

A. EvepynTiké + KegpdaAaio = MadnTikd
B. Madn1ikd — Ke@daAaio = EvepynTiko
. KepaAaio = EvepynTikd + MabNTIKO
A. Kepdhaio = Evepyntikd — MabnTikd

2. When a firm pays one of its payables by cheque, the effect on its
assets and liabilities is:

Effect upon Assets Effect upon Liabilities
A. Reduce bank Reduce Payables
B. Increase Bank Increase Payables
C. Reduce Bank Increase Payables

D. None of the above

2. "Otav n emixeipnon €Co@Aei Eva TTOTWTH TNG PE €TITAYA, N €Tidpacn
oT1o EvepynTikd Kai 10 MabnTiké TG ivat:

Emidpaon mévw oto EvepynTikd Emidpaon mavw oTo MNabntikd
A. Mgiwon Tpdtredag Meiwon MoTtwtwyv
B. Auénon Tpatredag Augnon Motwtwv
. Meiwon Tpdarreag Au¢non MoTtwTtwv

A. Kapid atro 11§ 1Mo mavw

Kpntng 1, KawaAog, 20¢ 6pogog, 3087 Aeuecdg, TnA. 25381586, Fax 25386722
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3. Which of the following statements is correct?

A.

B.

To record an increase in any given asset account that account
must be debited.

To record a decrease in equity, the equity account must be
credited.

To record an increase in a given liability account that account
must be debited.

. Torecord a decrease in any given liability account that account

must be credited.

3. Tola atrd TIG TTApPAKATW TTPOTACEIS gival 0pOn;

4.

A.

B.

I

A.

Na va karaxwpiooupe uia avénon o’ €va Aoyapiacud Tou
EVEPYNTIKOU, 0 AOyapIao oG auTOG TTPETTEI VA XPEWDEI.

MNa va kataxwpiooupe pia Peiwon Ke@aAlaiou, o Aoyaplaouog
KEQaAQiou TTPETTEI va TTIOTWOEI.

MNa va Kataxwpiooupe pia augnaon o’ éva Aoyapiacuo TTadnTikou
0 Aoyapiaopdg auTdg TTPETTEN va XPEWDOEI.

MNa va Kataxwpiooupe pia peiwon o’ éva Aoyapliaouo TaonTikou
0 Aoyapiaopudg auTdg TTPETTEN va TTIOTWOET

If these is a separate ledger account for each receivable and each
payable, which of the following double entries is the correct way to
record a cheque paid to B. Lee, a payable?

Account to Debit Account to Credit
A. B. Lee Cash

B. Bank B. Lee

C. Cash B. Lee

D. B. Lee Bank

Av 010 KOBOAIKO uTTdpXEl CEXWPIOTOS Aoyaplaouog yia KABE XpewaoTn
Kal yIa KA TTIOTWTA, TToI0 aTTd TIG TTAPAKATW DITTAOYPAPIKES EYYPAPES
gival 0 0pBAGG TPOTTOC yIa VO KATAXWPICOUMPE WIa TTANPpWUNA ME ETTITAYN
TTPOG TOV TTIOTWTH B. Lee;

Aoyapliaoudg TToU XPEWVETAI Aoyapiaoudg TTou TTIOTWVETAI
A. B. Lee Tapeio

B. Tparmeca B. Lee

. Taueio B. Lee

A. B. Lee Tpamela

24



5. Which of the following double-entries is the correct way to record goods
returned to A. Miller, a supplier?

Account to Debit Account to Credit
A. Revenue A. Miller

B. Returns Inwards A. Miler

C. Cash Purchases

D. A. Miller Returns outwards

5. TMola a1t TIg TTapaKATW dITTAOYPAPIKES EYYPAPES BewpeiTal cwoTh yia
TNV KOTAXWPIoN E€TMOTPOPNG EUTTOPEUMATWY OTOV TIPOPNBeuT A.
Miller?

Aoyapilaouog mou Xpewveral  Aoyaplaopudg rou MioTwveral

A. NMwAnoeig A. Miller
B. EmoTtpo@ég NMwARoewv A. Miller
. Taueio Ayopég
A. A. Miller Emotpopég Ayopwv

6. What would the balance brought down on J. Barker’'s account be if it
was balanced on June 20047

J. Barker

€ €
June 02 | Revenue 200 | June 15 | Bank 330
June 12 | Revenue 650 | June 25 Returns Inwards 75
June 30 | Revenue 800

A. €1245 debit
B. €520 credit
C. €1320 credit
D. None of the above
6. lMolo Ba eivar To uttdAoITTo €I véo Tou Aoyaplacpou J. Barker's av
auTog KAgioel TEAOG louviou 2004;
J. Barker
€ €
louviog 02 | MwAAoEIg 200 | louviog 15 | TpaTtreCa 330
looviog12 | NMwARoeIg 650 | louviog 25 | EmoTpogég
louviog 30 | MwAAoEIg 800 MwAnocewv 75

A. €1245 XpewaoTIKO

B. €520 MoTtwrikd

. €1320 MoTwTiKO

A. Kavéva atrd Ta 1o Tavw
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. Which of the following transactions, on its own, could explain an
increase in the debit balance brought down on the bank account in a
firm’s ledger?

A. The firm lodging money received from N. Taylor, a receivable.
B. The purchase of inventory by the firm.

C. The firm repaying a bank loan

D. The firm paying money to one of its payables.

. Moia a1rd TI¢ TTAPAKATW CUVOAAQYEG ATTO POVN TNG, NTTOPEI va €EnyNoEl
MIa augnon OTO XPEWOTIKO UTTOANOITTO €I VEO TOU Aoyapliaouou
TPATTECAG OTO KABOAIKO HI0G ETTIXEIPNONG;

A. H gmixeipnon kataBétel Ae@Ta TToU €10ETTPAEE aTTO TO XpewoTn N.
Taylor.

B. H ayopd gutropeupdtwy atmrd tnv €TTIXEipnon.

. HegopAnon atrd oTtnv TTixeipnon evog Tpatrefikou daveiou.

A. H katafoAnl petpntwv atmd tnv emixeipnon o’ €va amd Toug
TOTWTEG TNG.

. Which of the following is prepared in order to determine a firm’s profit
for the year/ net profit (or loss for the year/ net loss) for an accounting
period?

A. A trading account — section of the Income Statement

B. A profit & loss account — section of the Income Statement
C. A trial balance

D. A Statement of Financial Position

. MNolo amd Ta 1Mo KATW CUVTACOETAl YIa VO TTPOoodIopIoTEl TO KaBapd
KEPOOG (A N kaBapr {nuI&) TNG ETTIXEIPNONG O€ PIa AOYIOTIKA TTEPIODO;

A. O Aoyapliaopdg eKUETAAAEUON EUTTOPEUUATWV
B. O Aoyaplacpog kepdwv Kal {nuIwy

. To looCuyio

A. H kardotaon xpnuaTtoolKoVOMIKNG B€ong

. If the total of a firm’s sale for the month of May is €300000 and its
gross profit is equal to 25% of its cost of sales, its cost of sales for May
was:

A. €60000
B. €75000
C. €225000
D. €240000
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9. Av 10 OUVOAO TWV TTWAACEWV PIAG ETTIXEIPNONG yIa TO priva Maio eivai
€300000 kal To pIKTO KEPDOG 1o0oUTAl PE TO 25% TOU KOOTOUG TWV
TTWANCEWYV, TO KOOTOG TwV TTWAACEWV Tou Maiou gival:

A. €60000
B. €75000

r.

€225000

A. €240000

10. A sole trader’s equity at any particular date is equal to...

A.

B.
C.

D.

The sum of his non- current assets plus his current assets at
that date.

The total of his non- current assets at that date.

The total of his net assets at that date plus the total amount of
equity he has introduced.

The total of his net assets at that date.

10. To KEQAAQIO PIAG ATOMIKNG ETTIXEIPNONG OE WIA CUYKEKPIPEVN
nUEPOPNVia IcoUTAl JE ...

A.
B.
. To ouvoAo oTou KaBapou EvepyntikoUu OTnNV nUEPOMNVIA QUTH

A.

To T1oo6 Tou T[ldyiou EvepynTikoU Ouv TO KUKAOQOPIOKO

EVEPYNTIKO TNG NUEPOUNVIAG EKEIVNG.
To ouvoAo Tou lMayiou EvepynTikoU TNV nUEPOUNVIA AUTH.

OUV TO OUVOAIKO TIOOO TOU KEQPOAQIOU TIOU EICEQPEPE O
ETTIXEIPNMATIAG.
To auvolo Tou KaBapou EvepynTikoU aTnv nueEPOUNVia auTn.

11. On 1 January a sole trader had equity of €25000. During the year, he
withdrew €23000 for his own use and, at 31 December, he had equity
of €31000. If he did not introduce any new equity during the year, his
net profit/ profit for the year was:

A.
B.
C.
D.

€17000
€23000
€29000
€32000

11. Tnv 1" lavouapiou pia atouikn €tmxeipnon £xel kepahaio €25000. Katd
TN OI1dpKeIa Tou £TOUG, o emxeipnuatiag améoupe €23000 yia
TIPOOWTTIKI)  TOU XpPnon, kai Tnv 31" AekepPpiou 10 KEQAAQIO TNG
emyxeipnong avépyetal o€ €31000. Av 0 eTTIXElpnUATIOC OEV EICEPEPE
V€O Ke@AAaio Kata Tn OIAPKEIQ TOU €TOUG, TO KaBapd KEPOOG TNG
Xpovidg Ba givai:

A. €17000
B. €23000
. €29000
A. €32000
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12. The following information concerns a retailing firm.

Revenue during July ... €8200
Purchases during July...........oooiiiii e, €6400
Inventory at 1 July.......coooiiii €1300
Inventory at 31T July ... €900
Carriage inwards on July purchases........................... € 200

The firm’s cost of sales for July is .............
A. €6200
B. €6800
C. €7000
D. None of the above

12.  Ta 1mo KATW OToIXEIa apopouV pia TTIXEIpNoN AIAVIKAG TTWANONG.

MwAARoeIg Katd TN dIAPKEIA IOUAIOU ......cccceeeeeeeee. €8200

Ayopég Katd Tn SIAPKEIA [OUAIOU ....coveeviiiiiin. €6400
ATTOBepa (f ZT0K) ETTOPEUNATWY TNV 11 louAiou .. €1300

ATéBepa gutTopeUpATWY TNV 31" louAiou .......... €900

MeTagopikd ayopwv Pnvog louAiou.................... €200

To kb6oTOG TTWAACEWYV TNG £TTIXEIPNONG KATA TN dlIdpKela louAiou gival:

A. €6200

B. €6800

. €7000

A. Kavéva atrd 1a 1o Tavw.

13. Cash discount (also known as settlement discount) received is...

A. Deducted from the amount payable by receivables when money is
received from them.

B. Given by a firm to its customers when it sells goods on credit.

C. Deducted by a firm when it pays its payables.

D. None of the above.

13. Tauelakn EkTTwon Aappavouevn eivai ...

A. H ékTTT]oon atmd 10 TTO0O TTOU OQEIAOUV OI XPEWOTEG TN OTIYUA TTOU
EIOTTPATTETAI ATTO TNV ETTIXEIPNON.

B. H ékTmTwon 1Tou TTapaxwpeei n €Tmxeipnon TPog Toug TTEAATEG TNG
TN OTIYUN TTOU TOUG TTWAEI EPTTOPEUPATA PE TTIOTWOTN.

. H ékmrwon 10U aaipeital ammd 10 TT00G TN OTIYUA TIOU N
eTxeipnon eE0QAd Toug TIOTWTEG TNG.

A. Kavéva a1t 10 TTI0 TTAVW.
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14.

14.

15.

15.

A firm which purchased five items on credit at a cost of €80 each, less
25% trade discount, is entitled to deduct a cash discount of 5% if it pays
for them, in full, within 14 days of the invoice date.

If the firm pays within the above two-week period, it will have to pay:
A. €260
B. €280
C. €285
D. None of the above

Mia emixeipnon ayopace 5 Tepdxia e mTiotwon, kootous €80 1o Kabéva,
ME EMTTOPIKN EKTTTWON 25%, Kal dIKAiWMPA TAPEIAKNS EKTTTWONG 5% av
e€opAROEl OAOKANPO TO TTOOO PEoQ O€ 14 YEPES aTTd TNV NUEPOMPNVia Tou
TIuOAOYiOu.

Av n emmixeipnon €o@Anoel péoa oTnv TEPiodo Twv duo eRdouGdwy, Ba
TIPETTEl VA KATARBAAEI TO TTOOO:

A. €260

B. €280

. €285

A. Kavéva atrd 1a 1o Tavw

A wholesaler sold 55 items to a retailer at a price of €20 each, less 20%
trade discount. The retailer subsequently returned twelve of the items. As
a result of this, the retailer should be sent a credit note for:

A. €172
B. €192
C. €240
D. €288

"Evag xovopEuTTopog TTWANCE 55 KOPUATIO 07 éva AIaVOTTWANTA OTNV TIUNA

Twv €20 10 KaBéva, peiov ePTTOPIKA EKTITWON 20%. O AIavoTTwANTAG META
ETTEOTPEWE 12 aTTd TA KOPPATIA. 10 TO OKOTTO auTO O AIAVOTTWANTAG
ATTECTEINE TTIOTWTIKO CNUEIWUA yia:

€172
€192
€240
€288

Bow >
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16.

16.

17.

A firm bought a machine for €33000. It expects to use the machine for
eleven years and then sell it for €11000. If the firm calculates
depreciation by reference to the straight-ine method, the annual
depreciation charge, in respect of this machine, will be:

A. €1000
B. €2000
C. €2500
D. €3000

Mia emyxeipnon ayopace €va pnxavnua yia €33000. Avouével va
XPNOIUOTTIOINCElI TO Pnxavnua yia 11 xpovia kal JETA va TO TTOUAROEI yIa
€11000. Av n emixeipnon utrohoyiCel TNV amooBeon Pe TNV €uBeia
MEBODO, TO €100 TTOCO ATTOCRECNG YIA TO PNXAvNUa auTo, Ba eival:

A. €1000
B. €2000
. €2500
A. €3000

A firm bought a non-current asset for €500000. The asset has an
estimated useful economic life of 10 years and an estimated scrap value
of €50000.

If the asset is depreciated at the rate of 20% per annum, using the
reducing balance method, the depreciation charge, in relation to this
asset alone, in the second year of its life will be:

A. €45000
B. €72000
C. €80000
D. €90000

17. Mia emmixeipnon ayopaoce Eva Traylo TepIouciako oToixeio yia €500000. To

TTAYI0 AuTO OTOIXEIO £X€I UTTOAOYIOOEioa Xprioiun oikovouikn Cwn 10 eTwv
Kal uttoAoyloBcioa uttoAsipypaTikh agia €50000.

Av 1O OTOIXEiO auTO atroofévvutal pe TTOo00TO 20% €TNCIWG PE TN
@Bivouca péEBOdO, TO TTOOO TNG aTOoREONS KATA TO OeUTEPO £TOC TNG
CWwNAG Tou OToIXEIOU QUTOU gival:

A. €45000
B. €72000
. €80000
A. €90000
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18.

18.

19.

19.

20.

20.

Capital expenditure is ...

A.
B.
C.

D.

money brought into a firm by its proprietor.

expenditure incurred to finance the day-to-day operations of a firm.
expenditure incurred on the acquisition or improvement of non-
current assets.

None of the above.

KegpaAalouyikry datravn ivai:

A.
B.

r.

A.

To TT000 TTOU EI0EQEPE TNV ETTIXEIPNON O ETTIXEIPNPATIOG.

H &amdvn T1ou XpnuatodoTtei TIC KABNUEPIVEG A£ITOUpyieG TNG
ETTIXEIPNONG.

H datrdvn TTou yiveTal yia Tnv atmmokTnon ) mn PEATiwon Twv TTayiwv
OTOIXEIWV.

Kavéva arro 1a 1o mavw.

Which of the following is revenue expenditure?

Om>»

The cost of acquiring machinery for continuing use in the business.
The introduction of additional equity by a proprietor.

The cost of advertising a mid-season sale.

The transfer of surplus funds from a bank current account to a bank
deposit account.

[Molo atrd Ta TTapaKATW ATTOTEAEI AEITOUPYIKH dATTAVN;

A.

B
I
A

To KOOTOG ayopdg UNXAVAMATOG yia va OUVEXIOEl TN AEIToupyia Tou
oTnVv €TMXEipnon.

. H eicpopd mpdcbeTou KepaAaiou atrd Tov IBIOKTATN.

To kKbOoTOG dIAPAMIONG TTWANCEWY O€ EVOIAUEDN ETTOXIKA TTEPIODO.

. H petapopd Tou TTEPIOCOEUPATOG KEQAAQIOU ATTO TOV TPEXOUMEVO

Aoyaplaoud oto Aoyaplaoud KaTabEoewv.

When preparing financial statements, the irrecoverable debts account is
“closed” by a transfer to ...

oCowz>

the statement of financial position

the profit and loss account — section of the Income Statement
the trading account — section of the Income Statement

none of the above

"OTav OUVTAOOOUE TIG OIKOVOMIKEG KATAOTACEIG, O AOYAPIOOHOG ATTWAEIEG

XPEWOTWYV “KAEIVEI” HETAPEPOPEVOGS OTO/OTN(V):

A.
B.
I
A.

Katdotaon XpnuaTOOIKOVOUIKAG @¢ong
Noyapiaopud AttoteAéopata Xpriong.
Noyaplaoud ExkperdAAeuon Eutmopeupdtwy.
Kavéva atré Ta 1o Tavw.
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21. In the statement of financial position of a sole trader, accruals should be
shown as part of ...

TOw>

non-current assets
drawings

current assets
current liabilities

21. Ztnv KatdoTtaon XpnuaTtoolKoVOUIKAG @€0NG MIOG ATOMIKNAG ETTIXEIPNONG,
Ta OQEINOPEVA £600Q EPPAVICOVTAl WG HEPOG...

A.
B.

Tou 1Tdyiou gvepynTiKOU.
Twv ammoAnYewv

. Tou KUKAOQOPIAKOU evEPYNTIKOU.
A. Tou BpaxutrpdBeouou TTadnTIKoU.

22. A business buys goods for resale, paying cash. What are the entries in the
business’s books?

oCoOow>»

account debited account credited
cash purchases
cash supplier
purchases cash
supplier cash

23. The totals of the discount columns in a trader’s cash book were €350 debit

and €100 credit. What entry will the trader make in the discount received
account?

oCoOow>»

€100 credit
€350 credit
€100 debit
€350 debit

24. Which of the following transactions represents capital expenditure to a
sole trader?

COw>

additional capital invested by the owner

cash withdrawn by the owner

expenditure on the improvement of non- current assets
expenditure to finance day-to-day expenses
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25. A trader always uses the straight line method of depreciation for all motor
vehicles. Which accounting concept is he applying?

A. accrual

B. consistency
C. materiality

D. going concern

26. At the end of the financial year a business owed one month’s rent. This
was added to rent paid during the year to calculate the total rent for the
year. Which accounting concept is being followed?

A. accruals

B. Dbusiness entity
C. materiality

D. prudence

27. Which accounting concept is described in the statement ‘the business will
continue in existence for the foreseeable future’?

business entity
consistency
going concern
prudence

OCOw>»
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